[bookmark: _Hlk70406318]7500 : 5 =                                               3965 : 5 = 
[bookmark: _Hlk70406337]9387 : 7 =                                               2632 : 7 = 
9728 : 8 = 
7206 : 6 = 
9114 : 7 = 
      Reihenfolge:

- Dividieren
- Multiplizieren
- Subtrahieren
- Fahrstuhl




Selbstkontrolle: 
793, 1216, 1201, 376, 1500, 1341, 1302



7500 : 5 = 1500                          3965 : 5 = 793
9387 : 7 = 1341                          2632 : 7 = 376
9728 : 8 = 1216
7206 : 6 = 1201
9114 : 7 = 1302
      Reihenfolge:

- Dividieren
- Multiplizieren
- Subtrahieren
- Fahrstuhl




Selbstkontrolle: 
793, 1216, 1201, 376, 1500, 1341, 1302



2394 : 3 = 798
3384 : 6 = 2421 : 9 =
2768 : 8 = 
2982 : 7 = 
2023 : 7 = 
2394 : 3 = 

4770 : 5 = 
3648 : 4 = 
1428 : 6 = 
1248 : 8 = 
      Reihenfolge:

- Dividieren
- Multiplizieren
- Subtrahieren
- Fahrstuhl




Selbstkontrolle: 
156, 269, 564, 954, 912, 289, 798, 238, 346, 426



3384 : 6 = 564 2421 : 9 = 269
2768 : 8 = 346
2982 : 7 = 426
2023 : 7 = 289
2394 : 3 = 798

4770 : 5 = 954
3648 : 4 = 912
1428 : 6 = 238
1248 : 8 = 156
      Reihenfolge:

- Dividieren
- Multiplizieren
- Subtrahieren
- Fahrstuhl




Selbstkontrolle: 
156, 269, 564, 954, 912, 289, 798, 238, 346, 426



